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1. Introduction

In RAN1 #69, a way forward proposal [1] for a UE configured with PUCCH format 1b with channel selection for HARQ-ACK transmission was discussed:
· For a UE configured with PUCCH format 1b with channel selection for HARQ-ACK transmission, the HARQ-ACK transmission shall follow the Rel-10 design except the following: 
· The set of DL subframes (denoted as Kc) on serving cell c associated with UL subframe n shall include the DL subframes n−k where k ∈K and K is determined according to the reference timing configuration.
· For HARQ-ACK transmission on PUCCH
· The UE shall use the Rel-10 mapping table with M = max{Mp, Ms}, where Mp is the number of elements in set Kc for the primary cell and Ms is the number of elements in set Kc for the secondary cell.
· The UE shall set DTX for {HARQ-ACK(min{Mp, Ms}), …, HARQ-ACK(M−1)} for the serving cell with the smaller Mc value.
The following observations from the discussion were recorded in the Chairman’s Note [2]:

· Several companies are concerned with possible performance loss of the max bundling window approach.

· There could be cases of combination where there is  no A/N in one of the cells

· If the treatment can be common or separate for self-scheduling and cross-carrier scheduling

In this contribution, we provide detailed analysis of the proposal for the self-scheduling cases to further the discussion and address the concerns. The applicability of the proposal to the cross-carrier scheduling cases is analyzed and demonstrated in a companion contribution [3].
2. Analysis of the M = max{Mp, Ms} mapping proposal

In Rel-10, a UE determines the DL subframes n−k, where k∈K, to report ACK/NACK for subframe n based the DL association set index K defined by the SIB1 UL-DL configuration of the serving cells. In Rel-11, the SCell DL association set index K is determined by the SCell PDSCH HARQ reference configuration. When the reference configuration is different from the SCell SIB1 UL-DL configuration, the DL association set index K may contain SCell UL subframe(s). As shown in Figure 1, the PDSCH HARQ timing of the configuration #2 PCell is applied to the configuration #1 SCell with K = {8, 7, 4, 6}. Since n−4 is an UL subframe in the SCell, the size of the DL association set for SCell is Ms = 3. Therefore for the UL subframe #2 or  #7, the associate set sizes for the PCell and the SCell are (Mp, Ms) = (4, 3).

A complete tabulation of all possible combinations of the associate set sizes for the PCell and the SCell are provided in the appendix. For cases with identical Mp and Ms, Rel-10 PUCCH format 1b channel selection procedures can be applied directly without modification. For the new Rel-11 cases with unequal Mp and Ms, the combinations can be classified into the following three categories depending how the number of available PUCCH format 1b resources per Rel-10 specs:

· Cases with min(Mp, Ms)=0
One or two PUCCH Format 1b resources are available in this category.
· Cases with min(Mp, Ms)=1 and the cell with M=1 is configured for 1TB transmissions
Three PUCCH Format 1b resources are available in this category. 
· Cases with min(Mp, Ms)=1 and the cell with M=1 is configured for 2TB transmissions or Cases with min(Mp, Ms)≥2
Four PUCCH Format 1b resources are available in this category. 
For each of the possible cases, the following sections provide detailed analysis of the transmission mapping as determined based on the M = max{Mp, Ms} mapping proposal.
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Figure 1 PDSCH HARQ feedback timing for interband TDD aggregation of configuration #2 PCell and configuration #1 SCell. The PDSCH HARQ timing of the configuration #2 PCell is applied to the configuration #1 SCell.
2.1. Cases with min(Mp, Ms)=0

One or two PUCCH Format 1b resources are available for these cases.

For cases with Mp > 0, the proposal provides optimal transmission mappings.

For some cases with Ms > 0, which is only possible with UL-DL configuration #0 on the PCell, slightly improved transmission mappings may be possible with substantially additional implementation complexity.
2.1.1 Case (Mp, Ms) = (1, 0)
If PCell is configured for 1TB, 
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· If SCell is configured for 1TB, transmission mapping is derived from A=2 mapping:
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· If SCell is configured for 2TB, transmission mapping is derived from A=3 mapping:
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If PCell is configured for 2TB, 
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 are given. Transmission mapping from the following two sub-cases are equivalent to the optimal solution of Rel-10 A=2 mapping:

· If SCell is configured for 1TB, transmission mapping is derived from A=3 mapping:
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· If SCell is configured for 2TB, transmission mapping is derived from A=4 mapping:
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2.1.2 Case (Mp, Ms) = (2, 0)
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 are given. Transmission mapping derived from A=4 mapping is equivalent to the optimal solution of Rel-10 A=2 mapping.
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2.1.3 Case (Mp, Ms) = (0, 1)

If SCell is configured for 1TB, transmission mappings from the following two sub-cases are equivalent to Format 1:
· If PCell is configured for 1TB, 
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· If PCell is configured for 2TB, 
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If SCell is configured for 2TB, transmission mappings from the following two sub-cases are equivalent:
· If PCell is configured for 1TB, 
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· If PCell is configured for 1TB, 
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  are given. Transmission mapping is derived from A=4 mapping:
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2.1.4 Case (Mp, Ms) = (0, 2)
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2.1.5 Case (Mp, Ms) = (0, 4)
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2.2. Cases with min(Mp, Ms)=1 and the cell with M=1 is configured for 1TB

Three PUCCH Format 1b resources are available for these cases. 

For all the cases in this category, the proposal provides the optimal transmission mappings.

2.2.1 Case (Mp, Ms) = (2, 1)
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2.2.2 Case (Mp, Ms) = (4, 1)
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2.2.3 Case (Mp, Ms) = (1, 2)
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	0, 0

	DTX, NACK/DTX, NACK/DTX, NACK/DTX
	No Transmission


2.2.4 Case (Mp, Ms) = (1, 3)
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 are given. Transmission mapping derived from M=3 mapping is optimal for this solution.

	Primary Cell
	Secondary Cell
	Resource
	Constellation
	RM Code Input Bits

	HARQ-ACK(0), HARQ-ACK(1), HARQ-ACK(2)
	HARQ-ACK(0), HARQ-ACK(1), HARQ-ACK(2)
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	ACK, NACK/DTX, any
	ACK, ACK, ACK
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	1, 1
	0,1,1,1

	NACK/DTX, any, any
	ACK, ACK, ACK
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	0, 1
	0,0,1,1

	ACK, NACK/DTX, any
	ACK, ACK, NACK/DTX
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	0, 1
	0,1,1,0

	NACK/DTX, any, any
	ACK, ACK, NACK/DTX
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	0, 0
	0,0,1,0

	ACK, NACK/DTX, any
	ACK, NACK/DTX, any
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	1, 0
	0, 1, 0, 1

	NACK/DTX, any, any
	ACK, NACK/DTX, any
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	0, 0
	0, 0, 0, 1

	ACK, NACK/DTX, any
	NACK/DTX, any, any
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	1, 1
	0, 1, 0, 0

	NACK, any, any
	NACK/DTX, any, any
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	0, 0
	0, 0, 0, 0

	DTX, any, any
	NACK/DTX, any, any
	No Transmission
	0, 0, 0, 0


2.2.5 Case (Mp, Ms) = (1, 4)

[image: image135.wmf])

1

(

PUCCH,0

n

, 
[image: image136.wmf])

1

(

PUCCH,2

n

 and 
[image: image137.wmf])

1

(

PUCCH,3

n

 are given. Transmission mapping derived from M=4 mapping is optimal for this case.

	Primary Cell
	Secondary Cell
	Resource
	Constellation
	RM Code Input Bits

	HARQ-ACK(0), HARQ-ACK(1), HARQ-ACK(2), HARQ-ACK(3)
	HARQ-ACK(0), HARQ-ACK(1), HARQ-ACK(2), HARQ-ACK(3)
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	ACK, DTX, DTX, DTX
	ACK, ACK, ACK, NACK/DTX
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	1, 1
	0, 1, 1, 1

	NACK/DTX, any, any, any
	ACK, ACK, ACK, NACK/DTX
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	0, 1
	0, 0, 1, 1

	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	ACK, ACK, ACK, NACK/DTX
	
[image: image143.wmf])
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	0, 1
	0, 0, 1, 1

	ACK, DTX, DTX, DTX
	ACK, ACK, NACK/DTX, any
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	0, 1
	0, 1, 1, 0

	NACK/DTX, any, any, any
	ACK, ACK, NACK/DTX, any
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	0, 0
	0, 0, 1, 0

	 (ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	ACK, ACK, NACK/DTX, any
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	0, 0
	0, 0, 1, 0

	ACK, DTX, DTX, DTX
	ACK, DTX, DTX, DTX
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	1, 0
	0, 1, 0, 1

	ACK, DTX, DTX, DTX
	ACK, ACK, ACK, ACK
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	1, 0
	0, 1, 0, 1

	NACK/DTX, any, any, any
	ACK, DTX, DTX, DTX
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	0, 0
	0, 0, 0, 1

	NACK/DTX, any, any, any
	ACK, ACK, ACK, ACK
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	0, 0
	0, 0, 0, 1

	 (ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	ACK, DTX, DTX, DTX
	
[image: image151.wmf])
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	0, 0
	0, 0, 0, 1

	 (ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	ACK, ACK, ACK, ACK
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	0, 0
	0, 0, 0, 1

	ACK, DTX, DTX, DTX
	NACK/DTX, any, any, any
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	1, 1
	0, 1, 0, 0

	ACK, DTX, DTX, DTX
	 (ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	
[image: image154.wmf])
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	1, 1
	0, 1, 0, 0

	NACK, any, any, any 
	NACK/DTX, any, any, any
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	0, 0
	0, 0, 0, 0

	NACK, any, any, any 
	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
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	0, 0
	0, 0, 0, 0

	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	NACK/DTX, any, any, any
	
[image: image157.wmf])
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	0, 0
	0, 0, 0, 0

	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
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	0, 0
	0, 0, 0, 0

	DTX, any, any, any
	NACK/DTX, any, any, any
	No Transmission
	0, 0, 0, 0

	DTX, any, any, any
	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	No Transmission
	0, 0, 0, 0


2.3. Cases with min(Mp, Ms)=1 and the cell with M=1 is configured for 2TB transmissions or Cases with min(Mp, Ms)≥2

Four PUCCH Format 1b resources are available for these cases.
2.3.1 Case (Mp, Ms) = (2, 1) or (1, 2) and the cell with M=1 is configured for 2TB

The A=4 mapping is used, which is the optimal solution.
2.3.2 Case (Mp, Ms) = (4, 1) and the cell with M=1 is configured for 2TB or Case (Mp, Ms) = (4, 2)

	Primary Cell
	Secondary Cell
	Resource
	Constellation
	RM Code Input Bits

	HARQ-ACK(0), HARQ-ACK(1), HARQ-ACK(2), HARQ-ACK(3)
	HARQ-ACK(0), HARQ-ACK(1), HARQ-ACK(2), HARQ-ACK(3)
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	ACK, ACK, ACK, NACK/DTX
	ACK, ACK, NACK/DTX, any
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	1, 0
	1, 1, 1, 0

	ACK, ACK, NACK/DTX, any
	ACK, ACK, NACK/DTX, any
	
[image: image163.wmf])
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	1, 0, 1, 0

	ACK, DTX, DTX, DTX
	ACK, ACK, NACK/DTX, any
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	0, 1
	0, 1, 1, 0

	ACK, ACK, ACK, ACK
	ACK, ACK, NACK/DTX, any
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	0, 1
	0, 1, 1, 0

	NACK/DTX, any, any, any
	ACK, ACK, NACK/DTX, any
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	0, 0
	0, 0, 1, 0

	 (ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	ACK, ACK, NACK/DTX, any
	
[image: image167.wmf])
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	0, 0
	0, 0, 1, 0

	ACK, ACK, ACK, NACK/DTX
	ACK, DTX, DTX, DTX
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	1, 1
	1, 1, 0, 1

	ACK, ACK, NACK/DTX, any
	ACK, DTX, DTX, DTX
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	0, 1
	1, 0, 0, 1

	ACK, DTX, DTX, DTX
	ACK, DTX, DTX, DTX
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	1, 0
	0, 1, 0, 1

	ACK, ACK, ACK, ACK
	ACK, DTX, DTX, DTX
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	1, 0
	0, 1, 0, 1

	NACK/DTX, any, any, any
	ACK, DTX, DTX, DTX
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	0, 0
	0, 0, 0, 1

	 (ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	ACK, DTX, DTX, DTX
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	0, 0
	0, 0, 0, 1

	ACK, ACK, ACK, NACK/DTX
	NACK/DTX, any, any, any
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	1, 0
	1, 1, 0, 0

	ACK, ACK, ACK, NACK/DTX
	 (ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
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	1, 0
	1, 1, 0, 0

	ACK, ACK, NACK/DTX, any
	NACK/DTX, any, any, any
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	0, 1
	1, 0, 0, 0

	ACK, ACK, NACK/DTX, any
	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
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	0, 1
	1, 0, 0, 0

	ACK, DTX, DTX, DTX
	NACK/DTX, any, any, any
	
[image: image178.wmf])
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	1, 1
	0, 1, 0, 0

	ACK, DTX, DTX, DTX
	 (ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
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	1, 1
	0, 1, 0, 0

	ACK, ACK, ACK, ACK
	NACK/DTX, any, any, any
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	1, 1
	0, 1, 0, 0

	ACK, ACK, ACK, ACK
	 (ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	
[image: image181.wmf])
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	1, 1
	0, 1, 0, 0

	NACK, any, any, any 
	NACK/DTX, any, any, any
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	0, 0
	0, 0, 0, 0

	NACK, any, any, any 
	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
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	0, 0
	0, 0, 0, 0

	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	NACK/DTX, any, any, any
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	0, 0
	0, 0, 0, 0

	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
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	0, 0
	0, 0, 0, 0

	DTX, any, any, any
	NACK/DTX, any, any, any
	No Transmission
	0, 0, 0, 0

	DTX, any, any, any
	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	No Transmission
	0, 0, 0, 0


2.3.3 Case (Mp, Ms) = (1, 3) and the cell with M=1 is configured for 2TB or Case (Mp, Ms) = (2, 3)

	Primary Cell
	Secondary Cell
	Resource
	Constellation
	RM Code Input Bits

	HARQ-ACK(0), HARQ-ACK(1), HARQ-ACK(2)
	HARQ-ACK(0), HARQ-ACK(1), HARQ-ACK(2)
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	ACK, ACK, NACK/DTX
	ACK, ACK, ACK
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	0, 0
	1,0,1,1

	ACK, NACK/DTX, any
	ACK, ACK, ACK
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	1, 1
	0,1,1,1

	NACK/DTX, any, any
	ACK, ACK, ACK
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	0, 1
	0,0,1,1

	ACK, ACK, NACK/DTX
	ACK, ACK, NACK/DTX
	
[image: image192.wmf])
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	1, 0
	1,0,1,0

	ACK, NACK/DTX, any
	ACK, ACK, NACK/DTX
	
[image: image193.wmf])
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	0, 1
	0,1,1,0

	NACK/DTX, any, any
	ACK, ACK, NACK/DTX
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	0, 0
	0,0,1,0

	ACK, ACK, NACK/DTX
	ACK, NACK/DTX, any
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	0, 1
	1, 0, 0, 1

	ACK, NACK/DTX, any
	ACK, NACK/DTX, any
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	1, 0
	0, 1, 0, 1

	NACK/DTX, any, any
	ACK, NACK/DTX, any
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	0, 0
	0, 0, 0, 1

	ACK, ACK, NACK/DTX
	NACK/DTX, any, any
	
[image: image198.wmf])

1

(

PUCCH,1

n


	0, 1
	1, 0, 0, 0

	ACK, NACK/DTX, any
	NACK/DTX, any, any
	
[image: image199.wmf])
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	1, 1
	0, 1, 0, 0

	NACK, any, any
	NACK/DTX, any, any
	
[image: image200.wmf])
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	0, 0
	0, 0, 0, 0

	DTX, any, any
	NACK/DTX, any, any
	No Transmission
	0, 0, 0, 0


2.3.4 Case (Mp, Ms) = (1, 4) and the cell with M=1 is configured for 2TB or Case (Mp, Ms) = (2, 4)

	Primary Cell
	Secondary Cell
	Resource
	Constellation
	RM Code Input Bits

	HARQ-ACK(0), HARQ-ACK(1), HARQ-ACK(2), HARQ-ACK(3)
	HARQ-ACK(0), HARQ-ACK(1), HARQ-ACK(2), HARQ-ACK(3)
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	ACK, ACK, NACK/DTX, any
	ACK, ACK, ACK, NACK/DTX
	
[image: image204.wmf])
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	0, 0
	1, 0, 1, 1

	ACK, DTX, DTX, DTX
	ACK, ACK, ACK, NACK/DTX
	
[image: image205.wmf])

1

(

PUCCH,3
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	1, 1
	0, 1, 1, 1

	NACK/DTX, any, any, any
	ACK, ACK, ACK, NACK/DTX
	
[image: image206.wmf])
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	0, 1
	0, 0, 1, 1

	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	ACK, ACK, ACK, NACK/DTX
	
[image: image207.wmf])
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	0, 1
	0, 0, 1, 1

	ACK, ACK, NACK/DTX, any
	ACK, ACK, NACK/DTX, any
	
[image: image208.wmf])
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	1, 0
	1, 0, 1, 0

	ACK, DTX, DTX, DTX
	ACK, ACK, NACK/DTX, any
	
[image: image209.wmf])
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	0, 1
	0, 1, 1, 0

	NACK/DTX, any, any, any
	ACK, ACK, NACK/DTX, any
	
[image: image210.wmf])
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	0, 0
	0, 0, 1, 0

	 (ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	ACK, ACK, NACK/DTX, any
	
[image: image211.wmf])
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	0, 0
	0, 0, 1, 0

	ACK, ACK, NACK/DTX, any
	ACK, DTX, DTX, DTX
	
[image: image212.wmf])
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	0, 1
	1, 0, 0, 1

	ACK, ACK, NACK/DTX, any
	ACK, ACK, ACK, ACK
	
[image: image213.wmf])
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	0, 1
	1, 0, 0, 1

	ACK, DTX, DTX, DTX
	ACK, DTX, DTX, DTX
	
[image: image214.wmf])
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	1, 0
	0, 1, 0, 1

	ACK, DTX, DTX, DTX
	ACK, ACK, ACK, ACK
	
[image: image215.wmf])
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	1, 0
	0, 1, 0, 1

	NACK/DTX, any, any, any
	ACK, DTX, DTX, DTX
	
[image: image216.wmf])
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	0, 0
	0, 0, 0, 1

	NACK/DTX, any, any, any
	ACK, ACK, ACK, ACK
	
[image: image217.wmf])
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	0, 0
	0, 0, 0, 1

	 (ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	ACK, DTX, DTX, DTX
	
[image: image218.wmf])
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	0, 0
	0, 0, 0, 1

	 (ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	ACK, ACK, ACK, ACK
	
[image: image219.wmf])
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	0, 0
	0, 0, 0, 1

	ACK, ACK, NACK/DTX, any
	NACK/DTX, any, any, any
	
[image: image220.wmf])
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	0, 1
	1, 0, 0, 0

	ACK, ACK, NACK/DTX, any
	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	
[image: image221.wmf])
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	0, 1
	1, 0, 0, 0

	ACK, DTX, DTX, DTX
	NACK/DTX, any, any, any
	
[image: image222.wmf])
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	1, 1
	0, 1, 0, 0

	ACK, DTX, DTX, DTX
	 (ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	
[image: image223.wmf])
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	1, 1
	0, 1, 0, 0

	NACK, any, any, any 
	NACK/DTX, any, any, any
	
[image: image224.wmf])
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	0, 0
	0, 0, 0, 0

	NACK, any, any, any 
	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	
[image: image225.wmf])
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	0, 0
	0, 0, 0, 0

	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	NACK/DTX, any, any, any
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1

(

PUCCH,0

n


	0, 0
	0, 0, 0, 0

	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
	
[image: image227.wmf])
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	0, 0
	0, 0, 0, 0

	DTX, any, any, any
	NACK/DTX, any, any, any
	No Transmission
	0, 0, 0, 0

	DTX, any, any, any
	(ACK, NACK/DTX, any, any), except for (ACK, DTX, DTX, DTX)
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3. Conclusion

Based on detailed analysis of the transmission mappings as determined based on the M = max{Mp, Ms} mapping proposal in this contribution, we observed that

· Cases with min(Mp, Ms)=0
For cases with Mp > 0, the max{Mp, Ms} mapping proposal provides optimal transmission mappings. For some cases with Ms > 0, which is only possible with UL-DL configuration #0 on the PCell, slightly improved transmission mappings may be possible with substantially additional implementation complexity.
· Cases with min(Mp, Ms)=1 and the cell with M=1 is configured for 1TB transmissions
The max{Mp, Ms} mapping proposal provides the optimal transmission mappings for this category.
· Cases with min(Mp, Ms)=1 and the cell with M=1 is configured for 2TB transmissions or Cases with min(Mp, Ms)≥2
The max{Mp, Ms} mapping proposal addresses all cases and provides a favorable compromise of performance and complexity [5]

 REF _Ref329957054 \r \h 
[6]

 REF _Ref329957056 \r \h 
[7]. Some performance optimization may be possible but comes with substantial complexity increase.

Therefore, we propose to adopt the following solutions

· For a UE configured with PUCCH format 1b with channel selection for HARQ-ACK transmission, the HARQ-ACK transmission shall follow the Rel-10 design except the following: 
· The set of DL subframes (denoted as Kc) on serving cell c associated with UL subframe n shall include the DL subframes n−k where k ∈K and K is determined according to the reference timing configuration.
· For HARQ-ACK transmission on PUCCH
· The UE shall use the Rel-10 mapping table with M = max{Mp, Ms}, where Mp is the number of elements in set Kc for the primary cell and Ms is the number of elements in set Kc for the secondary cell.
· The UE shall set DTX for {HARQ-ACK(min{Mp, Ms}), …, HARQ-ACK(M−1)} for the serving cell with the smaller Mc value.
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5. Appendix

Table 5 All possible combinations of the associate set sizes in case of DL self scheduling.

	Cell Configuration
	M in subframe n

	
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Pcell
	0
	
	
	1
	0
	1
	
	
	1
	0
	1

	Scell
	1
	
	
	2
	1
	0
	
	
	2
	1
	0

	
	2
	
	
	4
	0
	0
	
	
	4
	0
	0

	
	3
	
	
	3
	2
	2
	
	
	0
	0
	0

	
	4
	
	
	4
	4
	0
	
	
	0
	0
	0

	
	6
	
	
	1
	1
	1
	
	
	1
	1
	0


	Cell Configuration
	M in subframe n

	
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Pcell
	1
	
	
	2
	1
	
	
	
	2
	1
	

	Scell
	0
	
	
	2
	0
	
	
	
	2
	0
	

	
	2
	
	
	4
	0
	
	
	
	4
	0
	

	
	3
	
	
	3
	4
	
	
	
	0
	0
	

	
	4
	
	
	4
	4
	
	
	
	0
	0
	

	
	6
	
	
	2
	1
	
	
	
	2
	0
	


	Cell Configuration
	M in subframe n

	
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Pcell
	2
	
	
	4
	
	
	
	
	4
	
	

	Scell
	0
	
	
	2
	
	
	
	
	2
	
	

	
	1
	
	
	3
	
	
	
	
	3
	
	

	
	6
	
	
	2
	
	
	
	
	3
	
	


	Cell Configuration
	M in subframe n

	
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Pcell
	3
	
	
	3
	2
	2
	
	
	
	
	

	Scell
	0
	
	
	3
	0
	1
	
	
	
	
	

	
	1
	
	
	4
	2
	0
	
	
	
	
	

	
	4
	
	
	4
	4
	0
	
	
	
	
	

	
	6
	
	
	3
	0
	2
	
	
	
	
	


	Cell Configuration
	M in subframe n

	
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Pcell
	4
	
	
	4
	4
	
	
	
	
	
	

	Scell
	0
	
	
	3
	1
	
	
	
	
	
	

	
	1
	
	
	4
	2
	
	
	
	
	
	

	
	3
	
	
	3
	4
	
	
	
	
	
	

	
	6
	
	
	3
	2
	
	
	
	
	
	


	Cell Configuration
	M in subframe n

	
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Pcell
	6
	
	
	1
	1
	1
	
	
	1
	1
	

	Scell
	0
	
	
	1
	1
	0
	
	
	1
	1
	

	
	1
	
	
	2
	1
	0
	
	
	2
	1
	

	
	2
	
	
	4
	0
	0
	
	
	4
	0
	

	
	3
	
	
	3
	2
	2
	
	
	0
	0
	

	
	4
	
	
	4
	4
	0
	
	
	0
	0
	


_1350059137.unknown

_1350566695.unknown

_1360848755.unknown

_1363654150.unknown

_1281463651.unknown

_1350050677.unknown

_1350052714.unknown

_1350050568.unknown

_1265547758.unknown

